
A B C D E

12mm 15mm

10 - 13.5mm
13 - 16.5mm10 - 18mm

a b
2525

F

Ø 10,5 mm Ø 10,5 mm

1
2

2

4

 5
4

3

3

11 12

13

14

15

16

1718

a b

a

b

19
20

20

21

22

20

20

21

22

9

10
9

8

8

7

6
7

!
!

www.hoppe.com

HOPPE AG
Am Plausdorfer Tor 13
DE-35260 Stadtallendorf

www.hoppe.com

HOPPE AG
Am Plausdorfer Tor 13
DE-35260 Stadtallendorf



F G BB W   3W   2 /
ES1 / ES2

SKG**/SKG***

L

82 - 87 3x M6x95 
77 - 82 3x M6x90
72 - 77 3x M6x85 
67 - 72 3x M6x80 
62 - 67 3x M6x75
57 - 62 3x M6x70 
52 - 57 3x M6x65
47 - 52 3x M6x60
42 - 47 3x M6x55
37 - 42 3x M6x50

Reini-
gungs-
mittel

Wie
neu

1

FE, 
POM

1

2

2

3
5

4
27a 27b

27

!

24

24

24

23

25

26

www.hoppe.comM
A

 3
5

5
  

 p
1

3
1

2
0

0
4

e
0

0
9

 A
X

0
2

  
 2

0
1

8
/1

0
  

 7
1

8
6

1
0

4

HOPPE AG
Am Plausdorfer Tor 13
DE-35260 Stadtallendorf


